FAXE BFb—FA2b

FHEAER

21
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30 1 2 12 5 3 8 - 15 4 8 9
25 5 12 6 13 - 16 7 - 13

BT 55 6 |BIIRE AER | 24 11 [BRER BE 21 31 |FER%¥E| |Ha#HME| 15 22 | =4t
14 1 6 8 - 23 7 16 8 8 10 - 15
11 - 15 12 - 18 13 - 11 7 - 14

AELE| 25 16 xE HEE)I#E] 20 41 | BEX HE 29 19 | #H A | 17 20 | BAE
11 8 10 8 - 12 11 11 - 13 12 3 - 18
20 8 10 - 14 12 - 11 12 - 11

Jigde | 31 16 | SH0E FiRIE | 18 26 | KEI samnE| 23 24 | SLHEF sz 15 29 [ NIBX
14 4 14 8 - 12 15 12 - 16 16 7 - 19
19 5 12 - 10 12 - 20 3 - 22

METE | 33 9 |wEmTx WA | 20 22 | i Y 36 | \i#A WA 10 41 |TATMIRE
19 5 18 8 - 13 19 10 9 20 5 - 15
21 2 12 - 12 7 - 15 10 - 13

EFIERE] 40 7 | XEE FRPE| 20 25 | =4t AELRB| 17 24 | BER HE 15 28 | MAE
21 3 22 9 - 15 23 10 - 10 24 6 - 23
9 8 - 15 15 9 9 - 22

nad | 27 12 | Xx=Ed SCHEF| 17 30 | AR AT | 25 19 | JIiEE J\i# 15 45 |HFIEZE
14 3 26 12 - 12 27 10 6 28 4 - 14
14 1 10 - 11 9 - 16 10 - 10

EIFRE| 28 4 | =#dt BER | 22 23 | MBE nede | 19 22 | NIA® AT | 14 24 |HEMIEE
19 6 30 7 - 12 31 1 - 12 32 6 - 18
21 5 9 - 11 13 8 8 7

SERFRE| 40 11 | BeE JNBEE | 16 23 |EMEZE node | 24 20 | MAFE =4k | 14 25 | BER
9 - 17 34 11 - 16 35 12 - 15 36 10 5
13 - 13 12 - 16 12 - 12 20 6

AR | 22 30 | JiOde BWEX | 23 32 | NOx jode | 24 27 | NIOXE SEENERE 30 11_|AfEE




FAKRE KFh—FAUE

AEHEAE R

6 - 5 &Y 8 - 7 7 - 12 Z 19 - 2
3 - 8 5 - 7 5 - 6 13 - 7

&@EB | 9 - 13 | S#AFE BXR=1] 13 - 14 | HEERE HE | 12 - 18 | #sE#MLT node | 32 - 9 |BE¥HE
3 - 7 ) 5 - 8 4 - 5 < 15 - 4
8 - 4 3 - 6 8 - 4 16 - 1
2 - 3 - - -

ik 14 [1 - 2] 16 J\i# X=dt | 8 - 14 | HFIREEA BREA | 12 - 9 [BEAKF A= | 31 - 5 | @@
0 - 11 z - 2 2 - 12 L 5 - 12
2 - 12 11 -5 7 - 10 5 - 9

noEE | 2 - 23 | =48t | 22 - 7 | KERI| [ERFERE] 9 - 22 | AR FmAnsEdt] 10 - 21 |FRZFE
24 - 3 3 7 - 10 1 - 6 1= 1 - 19
18 - 4 4 - 11 18 - 8 0 - 14

BEXR | 42 - 7 | A HFRHE 1 - ARET:E Y < ode | 29 - 14 I\ JHTNREEA| 1 - 33 | uo®
18 - 1 o) 2 - 11 6 - 1 & 7 - 19
19 - 0 7 - 10 8 - 7 5 - 21

WA | 37 - 1 AEA REf | 9 - 21 | =48t mhaER| 14 - 8 | AmR4 FEFE| 12 - 40 [HEZE
17 - 1 = 4 - 15 9 - 10 t 6 - 13
10 - 6 12 - 9 5 - 2 3 - 16

BEX | 27 - 7| &RHkT ode | 16 - 24 | IO® HAE | 14 - 12 | =4dt Il 9 - 29 [AMEZE
6 - 11 ES 7 - 12 9 - 3 A 6 - 14
9 - 4 8 - 16 15 - 3 8 - 15
4 - 2 - - -

BWEF[ 2 [3 - 0] 17 | Ox HAE | 15 - 28 |AEZE =48t | 24 - 6 |[hsriEH| |Heser| 14 - 29 | ok
8 - 11 1 9 - 13 8 - 6 # 13 - 16
5 - 8 7 - 8 11 - 11 6 - 12

NOHE | 13 - 19 | =4dt node | 16 - 21 | BANFE =484t | 19 - 17 | B8 BEX | 19 - 28 [AMEZX




